Sumar Enteros (])

Emplee una estrategia de enteros para encontrar cada respuesta.

(-26) + (-33) = (-67) + (-96) = (-25) + 80 =
(-7)+6= (-86) + (-37) = (-68) + 95 =
44 + 69 = 65 + (-66) = 88 + (-25) =
83 + (-73) = (-66) + (-72) = 28 + (-35) =
(-1)+50 = 82 + 24 = 92 + 58 =
(-48) + 78 = 92 + 89 = 75+ 5 =

86 + 26 = (-48) + 78 = (-60) + 72 =
(-44) +2 = 64 + (-60) = (-91) + (-42) =
(-55) + 30 = (-98) + 15 = (-37) + (-33) =
(-5) + (-29) = (-67) + 89 = 39 +22 =
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Sumar Enteros (J) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

(-26) + (-33) =
= (-59)

(-7)+6=
= (-1)

44 + 69 =
=113

83 + (-73) =
=10

(-1)+50 =
=49

(-48) + 78 =
=30

86 + 26 =
=112

(-44) + 2 =
= (-42)

(-55) +30 =
= (-25)

(-5) + (-29) =
= (-34)

(-67) + (-96) =
= (-163)

(-86) + (-37) =
= (-123)

65 + (-66) =
= (-1)

(-66) + (-72) =
= (-138)

82 +24 =
=106

92 +89 =
=181

(-48) + 78 =
=30

64 + (-60) =
=4

(-98) + 15 =
= (-83)

(-67) + 89 =
=22

(-25) + 80 =
= 55

(-68) + 95 =
=27

88 + (-25) =
= 63

28 + (-35) =
=(-7)

92 +58 =
=150

75+ 5=
=80

(-60) +72 =
=12

(-91) + (-42) =
= (-133)

(-37) + (-33) =
= (-70)

39 +22=
=61
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